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QUESTION 1

An administrator logs into the Nutanix Support Portal and notices there is a new version of the LCM Framework
available. In an effort ensure LCM is providing the latest features, the administrator would like to upgrade LCM. How can
the LCM Framework be upgraded?

A. Perform an LCM inventory

B. Upload the latest LCM Framework as an image in the image Configuration in Prism

C. Upload the latest LCM Framework bundle via Upgrade Software in Prism

D. Upgrade AOS

Correct Answer: A

QUESTION 2

The administrator wants a container to be displayed and limited to 1TB in the hypervisor. What advanced container
setting must the administrator set?

A. Advertised Capacity
B. Reserved Capacity
C. Advertised Quota
D. Reserved Quota

Correct Answer: A

QUESTION 3

A node with Erasure Coding fails. What is the impact?

A. The node stops utilizing Erasure Coding.

B. Potentially increased amount of data stored in the SSD tier.

C. Increased Controller VM CPU Load.

D. AQS unable to do deduplication during the Erasure Coding failure.

Correct Answer: C

QUESTION 4

An administrator needs to ensure logs, alerts and information is consistent across clusters that are located in different
countries. Which service needs to be configured?
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A. SMTP

B. DNS

C. SNMP

D. NTP

Correct Answer: D

Explanation: NTP service needs to be configured to ensure logs, alerts and information is consistent across clusters that
are located in different countries. NTP stands for Network Time Protocol and it is used to synchronize the clocks of all

the nodes in a clusterl. This helps to maintain accurate timestamps for logs, alerts and other information that are
generated by Nutanix clusters1.

QUESTION 5

What is Prism Central primarily used for?
A. Multi-cluster network configuration

B. Container creation

C. Multi-cluster Single Sign On

D. Data reduction configuration

Correct Answer: C
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